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There are 30 questions in all in this Section. All questions are compulsory.

1. Wﬂ’{ﬁ?ﬁ RrFIRRR (P 4@ ? 1. Modern education system is
A) oo fefes (A) curriculum centric
B) e (B) ' child centric
() 32 fefes (C) bookish
(D) fRrFae | : (D) teacher centric.
0. Y IS @ @R 9 2. What is meant by concept ?
@A) e == (A) Specific know¥edge
B) R ] (B) Judgement
() UIEd - (C) Picture
(D) F&I1 (D) Imagination.
3 @R Reed @ 3@ firg oA Al In which stage of life development
S ¢ i does child start to speak ?
(A) Infancy
i i (B) Late childhood
i iy (C) - Adolescence
(C) T FIET

(D) Early childhood.
4. The first socialization of a child is
facilitated by

(D) AT IFTTIIE |
4. TReg AUy ANGIEE AR I

(A) oMl (A) language
(B) G ' (B) isolation
(C) ™ (C) observation
(D) HA | ; (D) independence.
5. 4Ref o e Teo el 2 5. Concept formation depends on
(A) IR T (A) learning
(B) B T (B) transfer
- (©) 1fRa Te (C) vision
(D) G T | (D) imagination.
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What is the duty of teacher in
generating motivation among the
learners ?

(A) To advise the learners from time
to time

(B) To rebuke occasionally for
mistakes

(C) To accept the level of success as
one can attain _

(D) To maintain very high standard.

How can the interest of the learners
be maintained ?

(A) To.deliver good lectures

(B) To cite good examples from the
text-books

(C) To cite examples from the
learners' familiar environment

(D) To check studies everyday.

The knowledge of learners' emotion is

essential for teacher. One of its

reasons is, teacher can

(A) remove anxiety of the learners
(B) control anger of the learners
- (C) keep the learners quiet by
threats of examination ;
(D) stop amusing behaviour.

‘Which one of the Acts is not related to

inclusive education ?

(A) Right to Education

(B) Prevention of Child Labour

(C) Prevention of Corporal
Punishment

(D) Custody of the Special Need
Children.

What is the meaning of

comprehensive evaluation ?

(A) Evaluation aof = .the whole
curriculum

(B) Evaluation of all-round
development

(C) Evaluation of the  whole
intellectual ability

(D) Evaluation of all students
simultaneously.
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Mathematics learning of children

depends on

(A) maturation

(B) intellectual ability

(C) interest '

(D) development of
reasoning.

Which one of the following is not

related to creativity ?

(A) To think quickly

(B) To perceive relation between
impossible things

(C) Work hard continuously

(D) To solve problem in a novel way.

How can one understand the extent

of student's learning readiness ?

(A) Spontaneous interest

(B) Correct answer to the teacher's .

spatial

question

(C) Requesting teacher to dictate
notes

(D) Completion of home task
regularly.

In examination copy most of the.

students have committed error in

answering a question. What may be

the probable cause ?

(A) They did not pay attention in the
classroom

(B) They did not study it at home

(C) The language of the question
was not proper

(D) The teacher did not say that it
was important.

Sometimes the first generation

learners may be inattentive in the

class, because

(A) there is none to help at home

(B) has to perform many household
work

(C) there is lack of effort in studies

(D) difficulty in understanding the
teacher's language.
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Who is known as the father of child

centric education ?
(A)
(B)
(©)
(D)

Dewey
Froebel
Montessori
Rousseau.

Who conducted the factor analysis of
intelligence first of all ?

(A)
(B)
(€)
(D)

Thurstone
Gardner
Carroll
Spearman.

Reading of literature is essential for
children because the child

(A) acquires knowledge

(B) develops imagination
(C) acquires difficult words
(D) builds character.

Individual differences occur among
children due to

(A)
(B)
(€)
(D)

heredity only
environment only

growth

combination of first two.

What may be the probable cause of
mistake in writing the same spelling

repeatedly ?

(A) Learning disability

(B) Low vision

(C) Tendency to commit mistake
(D) Low intelligence.
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As a result of cooperative learning
among the learners

(A) learners become self-reliant
(B) all learners learn equally
(C) learners' motivation declines

(D) they do not feel the needs for
teachers.

Which one is correct ?

The gifted children

(A) are always calm and quiet

(B) always behave extraordinarily
(C) solve problem quickly

(D) perform any task quickly.

How can you remove anxiety from the
learners ?

(A) By never imposing punishment

(B) By granting complete freedom in
the classroom

(C) By showing no bias to anybody
(D) By advising them not to be
~ anxious.

The way of teaching the learners
about environment is

(A) to get them ac'quainted directly
-with the environment

(B) to make them aware about the
various problems of environment

(C) to teach the environment related
contents in various subjects

(D) to teach environmental science.
According to Vygotsky

(A) culture is the
education

(B) culture is the
education

outcome  of
tradition of

(C) culture is the only determinant
of education

(D) culture is the facilitating factor
of learning,

[P.T.O.
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- Effective way to know about a
student is

(A) evaluation

(B) play

(C) visit his home

(D) observation.

What will you do if a student is
repeatedly teased by  another
classmate ?

(A) Punishment of the classmate

(B) Separate sitting arrangement

(C) Counselling of the classmate

(D) Call the guardian.

How can teacher identify brilliant
students ?

(A) On their examination result -

(B) Observing their classroom

behaviour
(C) Getting family history
(D) Based on the relationship with

other students.

What is the best way for a teacher to
maintain discipline in the classroom ?

(A) To assign group tasks

(B) To lecture about the need of
discipline

(C) To lodge complaint with the
headmaster

(DI) To impose strict punishment.

Cause of failure of students is

(A) lack of memorization power
(B) not to strive for assimilation
(C) absence of frequent tests
(D) not to follow the teacher.
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SECTION - II
Language - English

There are 30 questions in all in this Section.

All questions are compulsory.
Part - A
Direction : Read the following poem and answer the questions (31/61 — 37/67) that follow :
Futility

Move him into the sun —
Gently its touch awoke him once,
At home, whispering of fields unsown.
Always it awoke him, even in France.
Until this morning and this snow.
If anything might rouse him now
The kind old sun will know.
Think how it wakes the seeds —
Woke, once, the clays of a cold star.
Are limbs so dear-achieved, are sides
Full-nerved, — still warm, — too hard to stir ?
Was it for this the clay grew tall ?
— Or what made fatuous sunbeams toil
To break earth's sleep at all ?

31/61. The poet "urges to move him into the sun " because
(A) it is warm ' (B) it woke him once earlier
(C) it is day-time (D) it will ease his pain.

32/62. The sun "always" woke him in

(A) England (B) India

(C) Maly (D) France.
33/63. "Was it for this the day grew tall" — is an example of

(A) metaphor . (B) metonymy

(C) chiasmus (D) alliteration.
34/64. "... what made .fatuous sunbeams toil ..." is an example of

(A) synecdoche (B) periphrasis

(C) personification (D) simile.

799425 16001 T B [ P.T.O.
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35/65. The general tone of the pdem can be described as

(A) sad and tragic : (B) full of mirth
(C)  satirical : (D) humorous.
36/66. The meaning of the line "Woke, once, the clays of a cold star" is

(A) broke the cold star into pieces
(B)  brought life into the cold planet now called earth
(C) made the clays of the planet

(D) made a cold star warm.

37/67. If anything is capable of awakening "him" it is

(A) the warmth of the sun (B) the sun alone knows

(C) the daylight (D) the morning snow.

Directions :  Read the following passage and answer the questions ( 38/68 — 45/75 ) that

follov_v :

First introduced in 1927, The Hardy Boys Mystery Stories are a series of books
about the adventures of brothers Frank and Joe Hardy, teenaged detectives who solve
one baffling mystery after another. The Hardy Boys were so popular among young boys
that in 1930 a similar series was created for girls featuring a sixteen year old detective
Nancy Drew. The cover of volume of The Hardy Boys states that the author of the series
is Franklin W. Dixon; the Nancy Drew mystery stories are supposedly written by
Carolene Keene. Over the years, though, many fans of both the series have been
surprised to find out that Franklin W. Dixon and Carolene Keene are not real people.
Who then wrote these books ?

The books were written through a process called ghost writing. A ghost writer
writes a book according to a specific formula. While they are paid for writing, their
authorship is not acknowledged and their names do not appear on the published
books.

The initial idea for both The Hardy Boys and the Nancy Drew series was
developed by Edward Stratemeyer, who owned a publishing company that specialized
in children's books. Stratemeyer noticed increasing popularity of mysteries among
adults and surmised that children would enjoy reading mysteries about younger
detectives with whom they could identify themselves. He first developed each book with
an outline describing plot and setting. Once that is completed he hired a ghost writer to
convert it into a book slightly over 200 pages. Once Stratemeyer approved the book, it
went to the print.

Both the series ran for so many years and that is why, both of them had a number
of different ghost writers. However the first writer for each series proved to be the most
influential. He was a Canadian journalist by the name of Lesliec McFarlare. A few years
later Mildred A. Wirt, a young writer from Iowa, began writing the Nancy Drew books.
Although they were using prepared outlines both developed character themselves. Wirt
had been a star college athlete and gave Nancy a similar ability. McFarlane used
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*

elements of his small Canadian town to create Bayport, the Hardy Boys' fictional
hometown. Although both the books were popular with children, not everyone
approved of them. Critics thought the plots were unrealistic. Many teachers and
librarians objected to the ghost-writing process, claiming it was designed to produce
books quickly rather than create quality literature. Some libraries — including the New
York Public Library — even refused to include the books in their children's collection.
Ironically this decision actually triggered the sales of the books. -

‘Regardless of the controversies about their literary merit, each series of books has
exerted an undeniable influence on American and even global culture.

38/68. Ac.cording to the passage the Nancy Drew mystery series was introduced in
(A) 1927 SRR (B) 1925
(C) 1929 (D) 1930.

39/69. Which would be the appropriate title of the passage ?
(A)  Ghost Writing : A Way of Life
(B) The Dubious Yet Profitable Practicg of Ghost Writing
(C) The Hardy Boys and Nancy Drew : A Ghost Writing Series
(D) A Critique of Ghost Writing. .

40/70. Who was the real writer of the series according to the pa_lsSz_ige ?
(A) Carolene Keene 2% (B) Franklin W. Dixon
(C) Leslie McFarlane (D)  Hardy.
41/71. Some teachers and librarians objected to the ghost writing series because they

(A)  disapproved of mystery stories

(B) thought that the books were too expensive

(C) believed that the books were not quality literature
(D) disliked the business practice behind the series.

42/72. Which of the following describes the author's attitude towards the series ?
(A) Balanced and réspectful (B) Doubtful and critical
(C) Hostile but forgiving (D) Overwhelmingly appréciative.
43/73. A ghost writer is someone who '

(A)  writes about ghosts and strange events
(B) does not receive credit as an author
(C) invokes spirits and supernatural elements to write

(D) takes lot of money for writing.
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44/74. What does the word 'surmised' mean ?
(A) Guessed . (B) Questioned
(C) ‘Knew (D) Surprised.
45/75. The Hardy Boys and Nancy Drew series were created on the idea that

(A) mystery books for adults are popular
(B) children enjoy reading about characters they can relate to
(C) girls and boys are not interested in the same thing
(D) the writer needed money.
Part - B
Direction : Answer the following questions by selecting one option :
46/76. Key principle of langﬁage teaching is
(A) to motivate the students in the process of learning
(B) to facilitate the learner-centered classroom activities
(C) to maintain discipline in the class |

(D) to show the teacher's mastery over language.

47/77. In a language-teaching class the primary skill(s) to be developed in children is/
are :
(A) Listening ; (B) Speaking
(C) Listening and Speaking (D) Writing.

48/78. A multi-lingual classroom is

(A) students with different mother tongues
(B) students coming from different regions
(C) students with different cultures

(D) students with different social backgroundﬁ.
49/79. Gender stereotypes can be discouraged by
(A) helping the boys to accept failure
(B) encouraging girls to take up sports
(C) asking girls to arrange for the snacks in a class picnic

(D) encouraging girls to take up challenging jobs in life.
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50/80. Abstract intelligence tests
(A)  verbal skills
(B) manual dexterity
(C) numerical ability
(D) ~ manipulation of syinbols.
51/81. Today emphasis should be given to
(A)  electronic gadgets used for teaching-learniné process
(B) chalk-and-talk method of teaching-learning process
(C)  learning through foreign collaboration .
(D) value based teaching-learning process.
52/82. 'Overlearning’ is the term used to describe
(A)  practice that continues after a perfect recall has been achieved

(B) the practice of learning over and beyond the requirement of a particular

class / age
(C)  the practice of spending too much time on studies

(D) the practice of overburdening the students with tasks.

53/83. Tasks to improve spelling should not include

(A) reading (B) listening

(C)  writing (D) use of dictionary.
54/84. . Giving dictation is not useful for

.(A} learning the correct form of the language
(B) developing language skills
(C) developing short term memory

(D) helping students to spell correctly.
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56/86.
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59/89.

60/90.
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How can language comprehension and proficiency be evaluated ?

(A)

(B)
(C)

(D)

By evaluating all the four skills in different periods of time throughout the

course
By evaluating all the four skills at the end of the course
By evaluating only reading and writing

By evaluating only speaking and listening.

What is the main challenge of teaching language in a diverse classroom ?

(A)
(B)

(©)

(D)

Facing slow and weak learners
Facing a mixed-ability group of learners
Facing infrastructural problems

Facing the good students in the class.

While using problerﬁ solving method the teacher should

(A)
(B)
(C)

(D)

participate actively in the process
encourage divergent thinking
ask the students to consult their parents

look at the students' activities from a distance.

Effective learning takes place when the students are

(A)

(C)

quiet : (B) obedient

interactive - (D) preparing for examinations.

A teacher can best develbp communicative skills with the students by

(A)
(B)
(C)

(D)

encouraging to speak in that language continuously
giving dictation
correcting grammar and spellings

giving students homeworks in that language.

While communicating ideas in written form grammar has

(A)

(C)

a key role : ~ (B) norole

liberal role (D) none of these.

[go01]



21
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T - fe=t
Section - II
Language - Hindi
7 faum A &1 30 99 € | |t wym e §

There are 30 questions in all in this Section. All questions are compulsory.

Part - A

fw:  frefafen e # Tewt su% seR ® i Ty (9 @@ 31761 39,69 7% )

& SR & T wad sfaq fawey g

foroan =1 9% 9w wga S ® T fomman & fom s &1 318 a1 781 | =9 @9 1 @
A W € fF STeHEEhR % for G} sga wefae s woaEEE § — 9 w9
T 4 AfHE SR AEd S 1 A @ SR 9 9% 9o @ @ S @ | 9% A A
fafeera @ o St g wafergEs staw o w3 =@ @ suF fow 9w v st 2
@ senfasitan ot @ iR foed o &0 % s @1 e s ¥ ) g@ W) 3@ @@
T @ A fF 9% Sgd F9 A S ¥, H9d @ onedl | aw w@gd A9 ¥ s sua
STHIETE STeHT e § e 92 g @ | S8 39 W F1 S T AT & 9% 0 w2
1 FHA H, BIE AR A A | FIHe T AR X, F q AH-wGe F fon
SIS € | T W HER, S FO w6 ¥ AR S F9 eUW € — wunw vk, w9 e,
TAR HH, TR A1, R WY SR AT H W, TER Sgd ¥ S, ST O v we o
A HT SERFhdl Gohe Fd & fof gH STl erew w1 T9 W@ 9IfRT | Awar | 7 s
TH W TR § F SR nw gEd w1 e ara @ R sge geew st st saa
T H B WA §, o Fon A & qwa ot 9 e # ok o ved W o @ fedt
a1 foia T X wwar | w1l SEE o B ey § 2, 34 9w Wr feR @
ST | Fedl ST TR S YA < A yed feufa F S oot v Ay Feed ©

31/61. ‘wHEygs’ &1 Gfy-fa=se ®

(A) TE: + EEH B T+ T

(C) U + HEvH (D) TH + EvaF |

32/62. ‘AR’ W A SUEH w1 -1 Aoy wE € 2
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33/63. T&IA T H I wWHE §
(A) AHd @®) faru@ R T
(C) 3er-waier 3R wEdsa (D) ﬁﬂuﬁ]wnﬁa :
34/64. THTA €A | A T 1 &R0 B S @ ?
@& = | B) A
(C) ¥hed (D) HAHEE |
35/65. ' AeH-G@HR' W T HAE §
() FHUE ® &1
(C) dcgey (D) &8 |

36/66. ‘a3’ e w1 faudaeis = ?

(A) T ' (B) et
(©) Tl : (D) TSEA |
37/67. W %@ Sfte S F e ¢ ?
(A) FRESES ' B)  Avaqof
(C) WAl D)  faenfaargl |

38/68. H-HAT & fau e §
(A) 9 ¥ TSI H GEHA H a4 B S TR AAl | HrHerAgeS HATER FA
(B) 19t "t # @
() fomma =1 sHaER &

(D) 379 ST 1 T W& |

39/69. IHEER & fau smavEs ©
(A) 3H-TAT ; (B) Fgal
(©) THfEE T D) THA st |
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frdwr:  frafafes wain vga s9% som w e o i ( wee gen 40/709 45/75T% ) *
m%mﬂaﬁsﬁaﬁmﬁﬁq:

Vo F el e # g9 = w,
T MR H S e T
ST TEATEA TR S 7 g,
TV ITAEA TR 3 @I |
FGAl H IS T 3D W qH,
| 9 faeret ged @ @ |
39 g% SR | 3gA 7 g
TS YT T T 37 W@ E |
140/70. Hfa i 1 F& SE =E. @2
() @R & T ga T
(B) e wywal § nferefieran sn W% 3R A wife & 99 W o W gF

(C) g% & 7 ¥ gHfen

(D) =& =fq &1 aifae & |
41/71. " a9 A=A TR ST A G —

ufeR H HH-w eTeER § 2

@ v (B) 3w

€ ¥4k (D) g9 |
42/72. wfad %1 IugF W € wehar @

@) w9 (B)  wicmed

(€) ™ (D) wmfa

43/73. & Hig H 99 1 94 31ef ¥ 2
(A) T F WG B | wReEd e
(C) s@s Bl (D) feamE & |
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44/74. %3 Gl ® Fel T WM 2

(&) e | (B) e TeTE H

(©) &l gd o g (D) T H T@ W |
45/75. Hia e We F =afwdl F gEiud F @ T ?

A) St arcafus 3@ €

B) S wgd wREHd € |

(©) S SHam F FR arefahme | S@e ¢

(D) Gﬁmﬁwaﬁ@mﬁl

Part - B
Pier: frefatad wei % S % fog ge9 sugH foshed 9T

16/76. =i 71w T o wEd E 2

@) fom w=d 1 o o= W €

B) fo wedl & o= wffew €

(© fom w=di 1 yEm o= S €

() ot v 1 il A=) T € o e A ¥
47/77. = 8 @ & A Qe gyl e §

A SRR ¥ e B) ¥« vafaal # wfiEd

(©) =afeTa Jromed H wfE (D) 398 & &g T |
| 48/78.wmﬁsﬂmmﬁaﬁq—mww—ﬁrm%ﬁfmﬁ%ﬂﬁfa% ?
(@A) = % o faert @ s @ - fasr e @ g
(B) = REY Y YT T R TEV F g WO-FE & s whd ©
(©) s uREw # e sfsa W
(D) fie-uys weYe o HiEd ¥ Werew g |
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49/79. W3 ¥ feu mu foddi 1 = swRE@ @ € 2

() Tof s Shernsll A1 wue § werwm A ¥

(B) sl & wreueis 3FtE aodt &

(©) fox U F W e #

(D) g | fas <3 1 yoem § |
50/80. frefefad & @ #17 w e weres gt § geedifea @ 76 & 2

(a) e B) FIEH

(C) ez (D) = 9ISIgEH |
51/81. f7=1 ¥ § w1 Sy=RIHS wraT- e 29 uw e 9 € 2

(A) 1 Ha F foen w % S sAEEE | g

B) o T ) vAE w6

(C) Fiiem™ 1 Y3q Ha g+t Tt sryfed & wan

(D) 76 | it |
52/82. T foier =1 w1 e wwa = § | fopg miem &1 wHm Sy s =ifey 2
(A).WWEFI B) WHF = &
(C) ¥amYZe & i (D) 9% 4B H |
53/83.wﬁﬁmﬁmﬁmm‘s'ﬁWWmm-ﬁﬁm%|Qﬁffaqrqw
F 2 |

(&) 38 '3’ 9 wedl i Wi o G F forg 2

B) I H ‘T A v B g R-D S ¥ forw wRA

(C) wel &l ‘T’ 9t =i i g 2

(D) @ ‘g’ o WG i e 99 Y IHF GH WA FX I AqeF Sert o v w2 |
54/84. "=t AEeliE au1 Sgifaw S ¥ (" '

39 FYT § A9
(A) Yofa: HeHd § - (B) 3 WEHd ¥

(C) facpe Trwa =&t € (D) Fenq € off sl =& oft |
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WUfHF TR W GI-se’ wive & faem § wb-w faftar sifus ' € 2
(A) FHEF-HUA R gaor@ |

(B) wHfgar-urs iR wrar-w=rmsmen

© yfwm-frafe ( d9-< ) 3R FEER-T=A

(D) fFe-frafe SR sl & |

o=l § 9e-YaTg a9 aifther Wfe H1 godied S vg UG ©

() fafea whemd B) Hifas amiem

(C) =afere wieo (D) T 4 =K T |

fore¥ R * odi o% uikal ¥ fTEE g steamges 9 9T 36 o o1 ol e € R faeo
¥ wedi &1 9 foman w0 w1 ¥ W A ?

@A) FEHE B =EF

C) THH - D) T A EE T
Tieafiys TR W AR e i garegE goned @

(A) TSR FOMCH (B)  HWaM™ Yored!

(C) w1 HEI yomedt (D) TR gomet |

59/89. e H F© = T ga w1 FE e g e € 1 3% guA % fag ond s w4 ?

@) W T TS iR wreafas ufEm 9 e e | ‘i’ ang wee w1 o w1
(B) V=l I TH-<H IR Wet aliah | foen & fow wen

(© == B ST A 1 eEE ww

(D) TTeTd S AT Rl W el Wt | U A1 e e |

60/90. Fa& F Fo = A e gud fawr ¥, 39 39 39 foen W @ FA & o = s 2
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(A) == G Fe F 3 ga J R = A A

(B) == % Wial-fadl sl goieht SR 3T HUA H FHadl
(C) ==l =l wen-He A & WS FH T AAE FIAN
(D) FHAE |
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faum - 11
UTHT - AUTet
Section - II
Language - Nepali
79 faumr Sl 30 92 Y g | WA WeEh! S fad eiferd w o

There are 30 questions in all in this Section. All questions are compulsory.
Part - A

A.  frefafen weia wex Sifaes (31/61 - 35/65 ) FeEEH WEl ST SR

‘TeR | d afa e | st st w1 gl Taefverw wfR w@ @ieen qu 3t ufeufs
qEEH waren afie 1

31/61. ‘3’ Fwil W= B ?
(A) = ' - B) fw fadroo
() 3uei (D) ¥&F |
32/62. 'q' F1 qEU B ?
(A) 3T e (B) AW e
(© o Te D) R |

33/63. ‘TasAtyem’ — it e F 7 ?
(&) & T | (B) el s
(© eyt (D) e SETE |
34/64. ‘TEFA’ — it 74 F 7 ?
(&) TG (B) g @mte S
(C) et feresht (D)  H1 Tosheh! AT |
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35/65. 'gEHd’ HEl e & ?

A dEH B) TeNE

(C) < - (D) 99 |

B. freifefEs o Tt W ( 36/66 — 45/75 ) TITEES! Hel ST BRI
TEM SR HEATE T AR e A gitas wig | ¥dE wle S geie
m&ﬂ,ﬁﬁaammﬁﬁmmnﬁw—maﬁaﬂmwmmqﬁfmnwﬁmﬁaqm
fegr fody M, S Medd W W | @ Medd e sl 481 )Y — § T
aﬁﬁamﬁnwmmﬁ|w—mﬁv@ﬂmﬁ—m,w,rﬁm,wx
m@a@naﬂaﬁwﬁﬁﬁmaﬁm‘%m—aﬂ'@t,wmgwmlm
wmwmﬁmw@wmgwmwﬁmﬁrﬂ}m
‘efga TRE’ — @ g el et faa gEa |

s AetaE e wer frd R vEm wer we 9f el g €39 o s fag
- wRO e R g T | SferaETETen ST e IRAeEaE "el e
STEEA STIeH E T <N AR S A Al S e R

36/66. ‘Afdw’ FE I= & 7

@) E B) feom

©) §dT™ (D) ?ﬂﬁazrzﬁsﬁu
37/67. ‘famefl’ 57 afue se@ 8 ?

() s wfy (13) < wfy

©) - Tt ufy (D) e gEa |
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38/68. ‘@’ Wl ‘' F IIA w2

(&) dfga B Fq

©) fwraras (D) dHaer gig |
39/69. STdE TR YESA I¥E FA 8 2

(A) TER RIS - T (B) Hfaew wfeer gqam - Tt

(C) féQmh gt Iuwme - (D) TITAARAA - T
40/70. ‘faenedi’ wsgm FA3-F7 WX avf A B ?

A [+ H B T+

(C) 31+ 3m (D) 3+
41/71. ' STEeam’ @ ‘3’ FA TYAT FAN YR B ?

@A) w3 B) IgE

(C) FH (D) H&AFR |
42/72. TrEers fohA Rae ggEE wfuE g 2

(A) Wmmﬁﬂ@rﬁ

(B) et MR ®9HT T STE aferdl YUl

(©) Tt A e SeEm

(D) T U SHAA i |
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43/73. Afaw ufwsn qHAR JY O
(a) et wifed (B) wHfas wfe
(C) e A D) =E A |
44/74. ' g5 FE WK q ?
(&) g _ (Bj fardroo
© o fagom D) FE |

45/75. 'Y reda fEw M’ — 9Kqa W 999 A FH FwRES 9w 82

(A) : (B) &HIU
(C) 39_H (D) AfymTr |
Part - B

46/76. forg Ffza e yexds = g7 ?

(A B B)

(€) wrewEtEw | D) o |
47/77. ‘gl fasn vﬁﬁm' Fgeh! Afeashe! IS & ?

(a) e (B) TSt

(C) THFHH : (D) TEHEFEHR |
48/78. faera & o=, Tfgaaar, swRifiggaER & @ ?

(B ufig e B) =g g

(©) wifa (D) favawmf< |
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49/79. WIS TUHH SSAfereae JE HUH Ffas wfefcasd Tarerant 99 & & ?

(A) T S B e e
(C) wiarE) = (D) WEAER A< |
50/80. ‘g& T g1’ Huc A@H! FA faurnt Hfa & ?
@) ﬁﬁﬁiﬁwﬁﬁaﬂmm
(B) aﬁmwﬁmﬁﬁmm
() 3rmfEe i feafaa wvswea
(D) wTerF™ FHgRT feifad wveses |
51/81. frafafaa =€ aftemagr fafas sg=m & 2
@A) o W ® -(B) A @
! (€ uR W (D) ¥ A |
5I2/82. sy wSTsAe faaneiess
W) Afe fosprem werEd TS B) sifigeh forehram geram TS
© w@ﬁﬁmmumnﬁ (D) i I fawE WET |

53/83. 'Psychology’ &% F 9T 913 &1 ?

A) e B) UW*
© W= (D) TS
54/84. foeams =W AT F @ ?
(@) =i faeme B) i gemEE fawm
(C) W faer (D)  wrHIfSEh =Rl T |
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55/85. Sleed fagrae giqucs &l g1 ?

@ @ B v

(C) et D) fowz Fafea |
56/86. ‘354" AR WHGSH Fl T ? |

(A) IREHT gHE - (B) ®IAREY fHe

(C) TSHARTEY FHTH (D) wHRAEEEL 4% |
57/87.Eﬁﬂmaﬁﬁmmmﬁq%ﬁmﬂﬁwﬂm%mamaﬁﬁ?

@ foregar T (B) THEEIGL T

) = g<™ (D) 9REH 9HH |
58/88. ‘geiag! TfA’ FHEH WA HALT & 2

(&) geuH (B) AR

(€ 9 (D) T
59/89. 'wHifag’ & & ?

@A) TR e faee B e wE e

(C) amiferes fagm (D) FHAETEE fagmE |

60/90. "We must procure the best teachers for our children whatever it may cost."

T FHHH WAE § ?
@) ase (B) TS
() =M sRfa= (D) BT 9@ |
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QUG = 11
QeI - GGl

Section - II

Language - Oriya
Q8 9QIcEq MG e Q@8 | A9g g99Gea AaQ el ARQIdY |

There are 30 questions in all in this Section. All questions are compulsory.

(31/61 -37/67) €0@ UQ6RAE & G76a G2 ARl €696Ra A0 aaed @Y :

“Q9 62919 C6M ARQ d8IGe QFAe QYIaR Y° QAIQ 691 RGNS | c@lad 60ITY d6dd
QELEQ 99 629, YOR QRIRISIEA 69TV G0Q 2R | QIQE, YRl A5 R IR CREOERER AREH
g @ YR6REEN 6QIRAIY | GaIaN, AN BINARR R0 B A°NMEQ 668 Q8 gem |
@3 dQ 9190 AR JIRIP 0PIQ ATRIGE @A FQEUEH, A19Q €UEQ A &6q CPQ AR, 69
ge4a @861 6 610 091 @Q68. A86a 9Q AR 994 AUAIS RERIA 63 AT @ QY I

31/61.

32/62.

33/63.

34/64.
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RIARR 6RAYR J18 Yem ?
A) @99
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R6Q61Q41Q 2iel -

(A) 69 YQ 696 Qe @08
(C) 60 26Q 624l Q4P 903
ARSI a8

A) QB! + Bl

(C) Q@ +aersl
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) Qv

(B)

(D)

(B)

(D)
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35/65.

36/66.

37/67.

34
IRIAQ PR Q'8 QY ?
(A)  AFIRR QIR VIR BLQIR QQ Al
B) 996 da@ g8 QY
€ G/ 998 @qd QY
D) QFPRR HARE AR ANMIQQ FIQE QY |
‘A9’ 60 caa Aeleq HAQP 6QIRG ?
A 99 : (B) Qe
C) Qds | D) RN |
A8is clad 6RITY FELER ARIRIEI 60186 QR @8 QY ?
(A)  QUYQ AREe QY (B) dQQIQ QY

(C) Yesaad! QU (D)  SRWBASKAGN QY |

(38/68 - 44/74 ) 3¢ @366 QI0GE ANIQY GAAIE AR MUIQ A0 AaG G2 :

38/68.
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‘26l AAQ, AMeg, QA8 IRA 19! |
G2 01 94 AR Q6d | 69ITE10 Q6Q J1Q! !
- QdQ §0Qa ARIEH QAe-69-aR,

sl A1 gq, cel G2 2R | @R ace ade |
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Q6@ ¢ 69901, AIRe AIG | Q] A 6QQ !
AIRQ ge8 Ade QI AAQ 618 69Q |
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faeiet - II(a)
sifere @ Qe
Section - IlI(a)
Mathematics & Science
@2 fene @b 60 b o =z | @ oA @3 T 5a S O e et el frce 2|

There are 60 questions in all in this Section. The candidates who have selected this subject
must answer all the questions.

4,7, 12-93 59 AT 2
(A) 28

B) 21

(©) 14

(D) 35.
50-9% x % =
™
(A)
(B)
(). i 78

(D) 100.

3x? —2yz + 522 @R TR HoRHRM
w1

A) 4
(B) 3
(C) 6
(D) 5.

55 kg ProET 25 kg WSl @ SRFEICH Ol
AR O @ T A FS ?

(A) '11:5

B) 5:6

(C) 6:5

D)5 11.

@3 (MY INE A-99 T B-a9

x99 y % RE y-499 N

25
50

TR et A-93 @i 428 GBI

31, B-a9 9 T@
214 Bl
556 b1l
107 B1Fl
856 BIFI |

(A)
(B)
©)
(D)

799425

9].

92.

Q3.

94,

95.

The fourth proportionate of 4, 7 and
12 is

(A) 28
B) 21
C) 14
(D) 35.

If x % of 50 = y % of x, the value of
y will be

(A) 25

(B) SO

[C) #95

(D) 100.
The number of variables in the
expression 3x? - 2yz + 522 is

(Aa) 4

B) 3

=

(D) 5.

If 25 kg of zinc and the rest amount of
copper are present in 55 kg of brass,
what will be the ratio of copper and
zinc there ?

(A) 11:5

(B) 5:6

(C) 1628

B -6l

The principal amount of A is twice of

B in a joint business. If the profit of A
is Rs. 428, then the profit of B will be

(A) Rs. 214
(B) Rs. 556
(C) Rs. 107
(D) Rs. 856.

[ P.T.O.



96. @M ~WQee BRAG @ ZoT 73°, 97°,
146° €32 138° | ¥ @19Ha §7

(A) 113°
(B) 104°
(C) 86°
(D) 83°.

97. NSRS ABCD @ ABEF-@q (¥awe
AT N @32 OIME Tl I
h 8 p @
(A) h>p
(B) h<p
(€) h=p

(D) DS N7 |

98. @we f5t@ AB||CD T1, /BGE-@F WN

(A) 45°
(B) 120°
(C) 135°
(D) 270°. |
99. B W (Il MR @l fage
N 91 7@ ? ;
(A) 95°, 45°, 50°
(B) 95°, 45°, 40°
(C) 65°, 85°, 50°
{0} 65%, 55°,25°,

799425
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96.

97.

98.

99,

Four angles of a pentagon are 73°,
97°, 146° and 138°. The value of the
fifth angle will be

(A) 113°
(B) 104°
(C) 86°
(D) 83°.

The areas of the parallelograms ABCD
and ABEF are equal. If their heights
be h & p respectively, then

(A) h>p
B) h<p
(s

(D) none of these.
In the figure below, AB| | CD, then the
value of ZBGE is

(A) 45°

(B) 120°

(C) - 138°

(D) 270°.

With which of the following angles, a

triangle can be formed ?
(A) 95°, 45°, 50°
(B) 95°, 45°, 40°
(C) 65°, 85° 50°
{13) 652, 557, 25°.
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100. @36 119 MR 32 @19 3@ 5 @ o4

101.

102.

103.

104.

105.

(A) 83
(B) -44

() -83
(D) 12.

10 1.
(x + 3)(x - 3)-4 x-a9 RS IO ?
(A) 1
(B) 2
€ o
(D) -1.
x? - 8x +15 AMHa Gesmaafer g 102.
(A) * (x—=5)(x+3)
(B) (x-8)(x+7)
(C)  (x-5)x-3)
(D) (x-8)x-T7).
a?b®, a3p?, a*p’-ax @S 32at 103.
2 b-aq W B
(A) 32
(B) 24
C) 6
D) 2.
liﬁi affe edwd @ + b3 W 104.
ANS. (a+b) TET AAS, ]E
(A) (a? +b?)
(B) (a2 —ab+b2)
(C) [a2 +2ab+b2)
(D) (a? +ab +b?).
19949 T %51 e
(A) 7880599
(B) 9703011
(C) 7680951
(D) 6879091.
6001

799425
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(A 16 I 26, G 29

100.

When 32 is added to a number and
then multiplied by 5, the product
becomes 16 less than the original
number. The number is

(A) 83
(B) - 44
(C) -83
(D) 12.

The coefficient of x in the expression
(x +3)(x-3) is

(A 1
(B) 2
(C) O
D) -

The factors of x2 — 8x +15 is

(A)  (x-5)(x+3)
(B) (x-8)(x+7)
(€)  (x=S5)(x-3)
(D) (x-8)(x-7).

If the L.C.M. of a?b®, a®b?, a*p® is
32a?, the value of b will be

(A) 32
B) 24
(C) 6
(D). 2.

The product of two terms is a +b°
and H.C.F. of the two terms is (a + b).

So L.C.M. will be

(A). (a®+b?)

(B) (a? -ab +b?)
(C) (a? +2ab+b?)
(D) (a? +ab+b?).
The cube of 199 is
(A) 7880599

(B) 9703011

(C) 7680951

(D) 6879091.

[ P.T.O.



106.

107.

108.

109.

110.

0.63 -a% @e,na# Lo
(A)
(B)
(C)
(D)

A @ B-93 G 1% 10 q2F, B 8 C-9F
QACIE o1 15 I99 998 A 8 C-99 WO
ST 20 IWF| A, B8 C-a99 WO I
PO ?
(A) 12:53%3
(B) 17'53%3
(C) 15328
20 9% |

1296-a9 I97e 27

(A) 24

(B) 26

(C) 36

(D) 44.

68, 3-2, 27, x @R 82-49 °IY 5 R
x-€a9 I4 *E

(A) 4

(B) 51

(C) 41

(D) 39

3 T @i oo 1% W2

(A) 30

SRR

(©) T @ @ a3
@HE |

(D)

(B)

(D)

799425
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106.

107.

108.

109.

110.

The fraction ofO-éé is
63
Ry e
100
100
)
63
7.
s,
(€) 1
11
D) —.
(D) 9

The average age of A and B is
10 years and of B and C is 15 years
and of A and C is 20 years. What is
the average age of A, Band C?

(A)
(B)
(C)
(D)
The square root of 1296 is
(A) 24

(B) 26

(C) 36

(D) 44.

The
82 is 5. So the value of x is
(a) 4

(B) 51

(C) 41

(D) 39

The average of three consecutive

12-5 years
17'5 years
15.years
20 years.

average of 68, 32, 2:7, x and

whole numbers is always
(A)
(B)
(€C)
(D)

even
odd
any of these

none of these.



B,

112.

qofb vodweE b ST P AP
90° (@I ENfEe TAE R HYge®
7Tl =¥

(A) <sfewa

(B) e

() ==

(D) Bifeifermt |

ol [ ey afel ST
165° 0, IRGETOH LR 2

(A 12
(B) 24
(C) 6
(D) 8.

113, feae  faee AABC-@q Y @

114.

115.

ZA =70° B Nepa @I 7oE o 2
(A) AB> BC

(B) AB< AC

(C) AC> BC

(D) AC< BC.

a3 Fd oufear foger, @b
STREPICER VW 25° 6T, FAPICH I

(A) 7558

(B) 110°

(Cy | 130°

(D) ‘1555

ABc fagmw ABa W™ D, @<x
DE||BC. BC =7 cm @ DE-99 W

A
A

(A)
(B)
(€)
(D)

14 cm
7 cm
3:5cm

1'4 cm.

799425
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111,

112,

113.

114.
"isosceles triangle is 25°. So the value

1138

l6001 |

If the two diagonals of a quadrilateral
are unequal and bisect each other at
right angle, then the quadrilateral is
said to be

(A) square

(B) parallelogram
(C) rhombus

(D) trapezium.

If each interior angle of a regular
polygon is 165°, then the number of
sides of the polygon is

A) 12 -
(B) 24
(C) 6
(D) 8.

The vertical angle ZA of an isosceles
triangle ABC is 70°. Which of the
following relations is correct ?

(A) AB> BC
(B) AB< AC
(C) AC> BC
(D) AC< BC.

An acute angle of an obtuse angled

of obtuse angle is

(A) 755°
(B) 110°
(@) 130"
(D) 155°.

In AABC, D is the mid-point of AB,
DE| |BC. If BC= 7 cm, then the value

of DE is

(A)
(B)
(©)
(D)

[ P.T.O.
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116. CONI IONH I¥9 x 499 3@ 5 954
. SN @ 5 ARY AW INCH SIS ZeT

(A) (5-x):(5+x)
(B). (x-5):(x+5)
C) (10+x):x
(D) (x+5):(x-5).
117. (2x +1)2 = 4x? + 4x + 1. @B a3
(A) N
(B) <Iten
(C) SPTIFR
(D) (IS 77|
118. R@ 13T 8 @ReEna Swsite 19 : 20 30,
“fowdl Hiod 29 =5
(A) 10%
(B) 7:5%
(C) 5%
(D) 2:5%.
119. @2 M 20% I F=eE N
2F 90 | AN F@ ?
(A) 60
(B) 70
(C) 75
(D) 80.
120. (p+q)=8 &R (p-q)=62C1 pg-a%
BICED
(A) 7
(B) 14
(€) 21
(D) 28.
121. SI6RG &P 6% AN 901 27
(A) B S HEES
(B) ‘NG SI%F 1356’
(C) DI T FBTIRG’
(D) ‘SO §F AEFRT’ |
799425

116. If your present age is x, then the

197,

118.

119.

120.

121.

ratio of your ages 5 years before and
S years after the present is

(A) (5-x):(5+x)
B) (x-5):(x+5)
(C) (10+x):x

(D) (x+8):(x-5).

(2x+1)2 = 4x2 +4x +1. This is an

(A) equation

(B) identity,

(C) inequation

(D) none of these.

If the ratio of sale price and purchase
price is 19 : 20, the percentage of
loss is

(A) 10%

(B) 7:5%

(C) " 5%

(D) 2:5%.

If a number is increased by 20%, it
becomes 90. The number is

(A) 60

(B) 70

(€)oo Bl -

(D) 80.

If (p+q9)=8 and (p-q)=6, then the
value of pg will be

(A) 7
(B) 14
(€. 21
(D) 28.

Acharya Prafulla Chandra is

known as

Roy

'Master of Sulphates'

(A)

(B) 'Master of Nitrates'
(C) 'Master of Nitrites'
(D) 'Master of Sulphides'.



122.

123.

124.

63

A3 @R ofoe SRR 2

(A)  °0PT T

(B) GRFIZG

(©) e 0

D) = .
e SRS @M ¢ efveernRd Y
weifaafos At AfARIce T i
(A) SRIEE@R Ao

(B) SRIZNER WHHET AP
(C) eENER I5H[Er FFHAIfe®
(D) eREA@R Aol AN |
a3fb G (@I SfUebETe 91 29

(A) 1-08 volt
(B) 1'5 volt

(C) 1-05 volt
(D) 1-8 volt.

125 Sifs Twory @i S Ofe e (oF

@ et o @0a @ Iy & 2
(A)  QAIHSA bieor s P
(B) SN 19 BT AN I
(C) Tl ZI SIS &

(D) Twel g & |

126. AGSBES G AT 2RI Ze
A) Rfersm |
(B) CelleNfa
(C) e
(D) Confa®ier |
127. SHIGETSIE &) WA (PrafG AN Re
(A) fercErIRb
(B) @fCRIRG
(C) NCATIRD
(D) GRAATCHIIRD |
128. HeT@d @b @F AT JN =2
(A)  COIOPILEE
(B) SACSWEN
(C) I
(D) SOTSEAIf |
799425

[6001 |

122. Which one of the following is the non-
conductor of electricity ?
(A) Gas carbon
(B) Ebonite
(C) Human body
(D) Soil.
For a definite resistance and for the
definite time of flow of current, the
heat produced in a conductor is
" proportional to

(A) the flow of current

(B) the cube root of the flow of
current
the square root of the flow of
current
(D) the square of the flow of current.
The emf of a dry cell is
(A) 1:08 volt
(B) 1:5volt
(C) 1-05 volt
(D) 1-8 volt.
Why does an ink-filled fountain pen
leak at a high altitude ? '
(A) Atmospheric pressure increases
(B) Atmospheric pressure decreases
(C) Temperature decreases
(D) Height increases.
Substance important
clotting is
(A) bilirubin
(B) prothrombin
(C) albumin
(D) globulin.
The cell responsible for immunity is
(A) lymphocyte
(B) erythrocyte
(C) thrombocyte
(D) hepatocyte.
The name of a female reproductive
hormone is
(A) testosterone
(B) progesterone
(C) gastrin
(D) adrenaline.

123.

(©)

124.

125:

126, for blood

127

128.

[ P.T.O.



129.

130.

131.

TN R qe gwitied
AP A@ |

TN e

(B) A wiferr

(C) ARAPT (S

(D) fwery)

A PIANN ZANE NI 5o
SIS RaEC

QATHTCGT

(C) goi

(D)  SIfEIfer |

1 omicets e gt 18 sl zer
(A) TerR pEe

(B) i< omif

(A)

(A)
(B)

(€)@=l pue @ Gerafs sk swie

132.

133.

(D) @l p&e @ WK «bfb (g omIel |

RCEIE R o e B T O
fYeria a1 28

G
(B) oA

(C) SETE

(D) ST |
AR it oifds cr Soime wr ge
(A) 136w

(B) CefETe
(€) corfom

(D) Jcafz= |

(A)
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s001]

129.

130.

-is

131,

132.

133.

The pulmonary venous blood enters
chamber of the heart.

(A)
(B)
(©
(D)

The

right auricle
left auricle
sinus venosus
ventricle,

name of the emergency hormone

(A)
(B)
(©)
(D)

thyroxine .
estrogen
glucagon
adrenaline.

When repulsion occurs between two

substances then those two

substances are
(A)
(B)
(€

both magnets

both magnetic substances

one is the magnet and the other
is non-magnetic substance

(D) one is magnet and the other is
magnetic substance.

The electrode which is connected to
the
called
(A)
(B)
(©€)
(D)
Casparian strip is made up of
(A) Chitin

(B) Cellulose

(C) Pectin

(D) Suberin.

positive pole of the battery is

cathode
cation
anode

anion.
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134, FafiReafem @mib S ofaw 57 2 134. Which of the following is not a green
plant ?
(A) =4
(A) Lotus
(B) FAIR@EIENZ41
(B) Spirogyra
(C) NPT
(C) Agaricus
(D) w1 |
(D) Fern.
135. 3e@faefles dl@s @ wwiefs e
R S AR IS %e 135.In an eukaryotic cell, the organelle
responsible for aerobic respiration is
A) @EETe
() “ (A) Chloroplastid
B ﬂfsﬁﬁlﬁi\@ﬂ.l
B) (B) Mitochondria
(C) slerfer f% _
(C) Golgi body
(D) RIS |
(D) Lysosome.
136. (@ *m1fb ‘qife-aer w1y wfefze 2 :
136. Which substance is known as
(A) 7 ‘bucky-ball' ?
(B) T (A)  Diamond
(D) TFIZ6 | ‘ (C) Fullerene

1,37 Y (D) Graphite.

137. What are the components of Gun

(A) I, 2BIRER FIZWE @ag i powder ?
IETERD (A) Carbon, potassium nitrate and
(B) <FI4, et @ e _ potassium sulphate
(C) I, AETFE @ BB (B) Carbon, sulphur and bismuth
(D) e, eI NIBdEc s (C) Carbon, sulphur and nitre
SBIFTAN HAIETE | (D) Sulphur, sodium nitrate and

potassium sulphate.

138. AP GFTAI RROT a19%s 2w 138. The substance used in rocket fuel is
(A) OFT FIRCECSH (A) liquid nitrogen
(B) =% RICYIEH (B) liquid hydrogen
(C) I TREHZG : (C) carbon dioxide
(D) o fRferam | (D) liquid helium.

799425 [6001 ] [ P.T.O.
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st oo g ey Qe oW
(A) IMHETS

(B) T

(C) N @

(D) (8. GO B |

140.

141.

142.

143.

144,

3 -2fo7 waerd SwRae 2@
A

(C) @&

(D) 9| :
aRResfr w& @ e A9EE (R
& ?

(A) (T

(B) @RRETCRGI

(C) «arefNeET

(D) SmfAferer |

fsfiReosha @b @ende e
N2
(A)
(B)

(A)
(B)

Fofz@

e

) feaRye s

(D) Ml

FaRfoelr @Wbre wfefte gres
oIS 2 '

(A) 8 IR

(B) Wed WY

(C) %8 2

(D) fifs sz |

e @ el ot ze Pifer 2
(A) TRY

(B) CTH!

(C) s

(D) Suifs |
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139.

- 140.

141.

142.

143.

144.

The concept of stationary orbit in an
atom was proposed by

(A) © Rutherford

(B) Dalton

(C) Neils Bohr

(D) J.J. Thomson.

An example of a solution made of
solid in solid is

(A)
(B)
(C)
(D)

Which one of the following animal
body phyla has segmented body 7

(A)
(B)
(©
(D)

Which of the following
mammalian character ?

(A)
(B)
(€)
(D)

Which one of the following does not
have accessory respiratory organ ?

(A)
(B)
(©)
(D)

Which one of the following animals'
locomotory organ is cilia ?

fog
smoke
bronze

air.

Mollusca
Echinodermata
Aschelminthes
Annelida.

is not a

Pinna
Mammary gland
Three chambered heart

Hairs.

Anabus sp
Clarius sp
Labeo sp

Heteropneustes sp.

(A) Hydra

(B) Earthworm
(C) Paramoecium
(D) Amoeba.
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145. foreat wace owy will o 2o
(A) IS
B) 3%
(C) Iy
(D) %A |
146. FsfEfesfoe @Rl ermem we 73 2
A) IreTE
(B) PEIE™
€ =3
(D) &EF<R9|
147. (RIS W&y ceifom sResEg = 2@
A) fesfbetem
(B) RIS
(C) CNoIITETI
(D)  CERITICETIN |
148. SR W e e AR@IE
HeET I 2
(A) STYE GTSIPTETY Silfer<e!
(B) swifer afe
(C) eNREAICEIN
(D) ©Ipea |
149. @ WET oA1NS FRW 25 1 qW
R
(A) g
(B) Teby
(C) o
(D) T |
150. (¥ 99 2NN TR (3l 1y o 59
(A) e
B) o
(C) e
(D) enfbefiei)
799425

145.

146.

147.

The organ responsible for secretion of
bile is

(A)
(B)
(€
(D)

Which of the following is not a
component of phloem ?

(A) Sieve tube

(B) Companion cell

(C) Fibre

(D) Sclereid.

The site of protein synthesis in a

liver
kidney
pancreas

stomach.

~cellis

148.

149,

150.

(A)
(B)

Dictyosome
Ribosome

(C) Mesosome

(D) Chromosome.

Which of the following organelle has
many ribosomes attached to it ?

(A) Rough endoplasmic reticulum
(B) Golgi body
(C) Lysosome
(D) Vacuole.
The type of animals showing
cutaneous respiration is
(A) reptiles
(B) amphibians
(C) birds
(D) - mammals,
The phylum of animals showing
presence of mesoglea is
(A) porifera
(B) ctenophora
(C) cnidaria
(D) platyhelminthes.
[ P.T.O.
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Section - III (b)
SOCIAL STUDIES
93 et i 60 © e =z @ AT @3 FEal bu S O e e T e 2 |

There are 60 questions in all in this Section. The candidates who have selected this subject
: must answer all the questions.

91. Free India Centre e 2R - 91. The Free India Centre was set up in
(A) fefe ' (A) Berlin
(B) =S : §9 (B) London
(C) ifeers (C) Tokyo
(D) Q™ | (D) Rome.
92. Indian Independence League qoH 92. The Indian Independence League was
FRRE set up by
(A) mIfaRE 9% (A) Rashbehari Basu
(B) Torav¥ I & (B) S}lbhas Chandra Bose
(C) B (W= B (C) - Captain Mohan Singh
(D) ™R (T | (D) none of them.
93. Direct Action-a3 b1 X 03. Direct Action was initiated in
(A) e (A) Calcutta
(B) QE0S (B) Bombay
(C) wwrce (C) Madras
(D) CPHGIR 7T | : (D) none of these.

799425 6001




94. CR. Fo-rmulaﬁr o
(A) BRG] AT
(B) Toeag wm
() TR e
(D) AHF @S 7 |
R e —— WA ZEW
(A) Eﬁ@r ATSCSTIATEATRY
(B) Teaew v
(C) w1 Ipa
(D) ¢GTF T 77 |
96. I IR O A1l R
) e
(B) WA=
(C) Cwl=
(D) a™F @G 77 |
97. R e forgf¥ (ifEa Fie S ¢
(A) @ FHeY
(B) &y rwey Rewfie
(C) Twed

(D) 9@ @T 77 |
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94,

95.

96.

97.

C.R. Formula was forwarded by

(A) Chakravarthi Rajagopalachari
(B) Chittaranjan Das

(C) Rabindranath Tagore

(D) .none of them.

Amar Sonar Bdngla was composed by
(A) Chalcra{rarthi Rajagopalachari
(B) Chittaranjan Das

(C) Rabindranath Tagore

(D) none of them.

The last king of the Maurya Dynasty

was
(A) Brihadratha

(B) Kalashoka

(C) Udayin

(D) None of them.

Who was called Lichchhavi dauhitra ?
(A) Chandragupta I

(B) Chandragupta II Vikramaditya
(C) Samudragupta

(D) None of them.

[P.T.O.
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o8, *meIfy AoN +iffe (v A fof 2 08. Sakari was the title earned by
(A) oUW HUSI (A) Chandragupta l
B) fadw raed Rt (B) Chandragupta II Vikramaditya

(C) ged : (C) Samudragupta

()~ e 5 7 (D) None of them.

. SIEEET oY T FEA : ;
i 99. The Aihole Prasasti was composed by

A) RIS AEANT
(A) Ravikirti
(B) CheTe@ e ; :
(B) Gautamiputra Satakarni
() e opmd

(C) Vasisthaputra Pulamayi
(D) &TFE (T T | '

100. fad sETEeR e ST

(D) None of them.

100. Pulakeshin 11 defeated

(A) FUBS N

(A) Chandragupta Maurya
B) IHRE"= .
( (B) Harshavardhan
(C) RS ERIRICE

; (C) Nagabhatta I
(D) TR T 7 |
(D) None of them.
101. IEAEA G EH 2
. 101. Babur was born in

(A) TR
B) N (A) Fergana
(B) Delhi
(C) e
D) b (C) Ajmer
102. FNCH o I " S (D) none of these.
FEABEN ? 102. Captain Hawkins visited the court of
(A) TIRER (A) Jahangir
(B) R (B) Akbar
(C) *=RER™ (C) Shahjahan
(D) ETR FT 7 | (D) None of them.

799425
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103. SIFI-TI-519] S99 (P WO FE 2 103. Vasco-da-Gama came to India and

A) @IS landed at

(B) ww ¥l (A) Khozikode
©) T | (B) Gujarat
o sk (C) Patna

(D) none of these.

104, TR TN oifE 39

2 104. Farrukhsiyar’s firman was issued in
(A) sasa @

(B) saxo dL: (A) 1717 A.D.

(B) 1720 A.D.
i (C) 1730 A.D.
b (D) 1740 A.D.

i, i it 105. The Second Charter Act was passed

(A) Svdo &M 5
(B) Svdg ;e (A) 1813 A.D.
(C) svde Al (B) 1814 A.D.
(D) (RPHB1E 7% | - ' (C) 1815 A.D.
106. 4R sifiee sifiow T (D) none of these.
A) ¥y - 106. Effect of revolution of earth is
B) fi-afa Sy (A) change of seasons
: (B) occurrence of days and nights
(C) I o6
C) occurrence of flood
(D) =T eiméra | fhe
' (D) occurrence of earthquake.
107. A T ARER 27 ... 200 |
107. The first humans came from
() il ,
: (A) Africa
(B) @ _
(B) Asia
S f (C) North America
(D) (FHBR JF |

(D) none of these.
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108. FEHTIH @41 (@ 2w @ oz i 2@
(A) FETE (B) I3V
(©) Ivgw (D) CRFHR 7 |
109. BuETE (@ @I sfoNeT ©f 24

(A) >»ax (B) s»ao

(C) ssae s (D) CPHGR T |

112, e waer 3B 2
(A) TuITeTIeCTS (B) Yfr®
(C) =ifswew (D) &f% &f% |
113. +{fe@x Ao 7w / FA 21
A) (B) A&
(C) ™= (D) =@ |
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108.

109.

110.

119

112.

113.

6001

The Tropic of Cancer passes through
(A) Krishnanagar

(B) Bankura

(C) Birbhum

(D) none of these.

The Himalayas belong to the category
of

(A) Fold Mountains

(B) Block Mountains

(C) Volcanic Mountains

(D) Residual Mountains.

Proje-ct Tiger was started in

(A) 1972AD. (B) 1973 AD.
(C) 1975 A.D. - (D) none of these.
Atmospheric pressure is measured
by |

(A) Barometer

(B) Thermometer

(C) Hygrometer

(D) 'Anemometer.

Rainfall of equatorial region is

(A) relief

(B) frontal

(C) convectional

(D) drizzle.

Longest river in the world is

(A) Mississippi

(B) Nile

(C) Ganga

(D) Brahmaputra.



114, ¥23e =&
(A) s
(B) TFoerify @
(C) e @

(D) G%F Gl |

115. W91 @ N5 Q096! o

(A) @wITe waer
(B) 3w

(C) ceeT

(D) CPRGR 7 |

116. e &= SEmrome A 2

(A) @ % SR

(B) a9

() Pz

(D) =fS |
117. IFFICER I

(A) &

(B) PF W&l

(C) W= =z

(D) TR 2T |
118, Ty ©few ofleq I
(A) FReTE Wbt
(B) FEAEIH
(C) v Wfore
(D) CIIEHGIR 7 |
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114. Great circle means

115.

116.

(A) Equator

(B) Tropic of Cancer

(C) Tropic of Capricorn

(D) Pole.

Dadra and Nagar Haveli is a
(A) Union Territory

(B) State

(C) District

(D) none of these.
Jaldapara is famous for

(A) one horned Rhinoceros

(B) Tiger

| (C) Lion

TI7,

118.

(D) Elephant.

Cause of air pollution is

(A) smoke

(B) cleaning utensils
(C) bathing
(D) use of fertilizer.

Mangrove forest is found in

(A) Sa]ine soil
(B) Black soil
(C) Podzol

(D) None of these.

[ P.T.O.
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119. voo fibE % fwmsl 2o 119. Landform which is 600 metres high,
(&) Weef  (B) e »
A) Plateau
(C) == (D) &S | (
(B)  Plain
120. ©fiz eiqe Sie 2@
(C) Hill
(A) TS ,
(D) Mountain.
(B) STFETI 120. Earthquake prone region is
(C) wfEe =izl (A) Japan
(D) @A | (B) Australia
121. OG- I AGEIE CAS ACIHRER (C) South Africa
R zEm (D) Germany.
(A) TESS G ~121. Hiuen-tsang visited India during the
reign of
(B) T
(A) Chandragupta Maurya
e '
© T (B) Harshavardhan
(D) & T | (C) Nagabhatta II
122, T e @em (D) None of them.
(A) R 2 122. Suleiman was a/an
(B} wﬁ‘ W (A] Arab Traveller
©) fe e (B) French Traveller
(C) Chinese Traveller
(D) C(FHBIR 7T | '
(D) None of these.
123. 29 O] *Rifere SEREw
123. Muhammad Ghori defeated
A 9j§l§ &7 (BRI
() (A) Prithviraj Chauhan
(B) s sprewice (B) Pulakeshin II
(C) TRE (C) Harshavardhan
(D) ™R T FF | (D) None of them.

799425 [6001]




124, ‘&&T < iz
(A) GRME I
(B) &S S
(C) e o
(D) (FHEIR Y |
125, ‘g’ (@ cafern sl Gt 2o
(A) FI°
(B) e
(C) I8
(D) C(FWBIR 7Y |
126. oo A9 OIROST FRY

@) @@

(€) fweEy o4

(D) SRR SR |
128. A0 Tweifon @1 e

(A) AL

(B) SRTH-

(C) =

(D) 4 I oS AT |
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124.

125.

126.

127.

128.

[6001 |

Igta was a system of

(A) Land grants

(B) Religious endowment
(C) Loan

(D) None of these.
Khudkasht was a category of
(A) peasants

(B) kings

(C) nobles

(D) none of these.

River of South India is

(A) Brahmaputra

(B) Ganga

(C) Jamuna

(D) Krishna.

Royal Bengal Tigers are found in
(A) Sundarban

(B) Western Ghats

(C) Himalayas

(D) Garumara forest.

Main work of a river in its upper

course is

(A) erosion

(B) deposition

(C) transportation

(D) formation of meander.

[BFT.0.



129. (OO 26T ... -7 EFS S |
(A) RS (B) @it
(€) wifgwl (D) GG |
130. ¥fce sm Sler siew Im
(A) CaBIEeE TRTSfN STt
(B) @< wrasce
(C) ~Foaae e sz
(D) 53 oo ST |
13 1. T2 AGrei Feaiie el o
(A) IR rerel
(B) fdy srerel
(C) s serel
(D) CFEHE 77 |
132. TERF {5
(A) 2y
(B) wrffazs
(C) (A) @3t (B) Bon
(D) (B2 7F |
133. RfePra forer
(A) ®2 7Ny
(B) G qgy
(C) == 7elty
(D) CPHIE 77 |
799425
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129.

130.

131.

132.

133.

Polder is the reclaimed lands of
(A) Netherlands

_(B) Germany

(C) Austria

(D) Scotland.

Rich deposits of minerals are found in
(A) Chota Nagpur plateau
(B) Sundarban region

(C) Plains of West Bengal

(D) Mountain region of West Bengal.

The Harappan Civilization was a

contemporary of

(A) Sumerian Civilization
(B) Egyptian Civilization
(C) Greek Civilization

(D) None of these.
Yajnavalka was a

(A) Saint (Rishi)

(B) Philosopher

(C) Both (A) and (B)

(D) None of these.
Bimbisara belonged to the
(A) Gupta Dynasty

(B) Maurya Dynasty

(C) Haryanka Dynasty
(D) None of these.
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134, SETFENS OIS W@ FE 134. Alexander invaded India during the

(A) HHeE A *PHPIET reign of
(B) HFRCHA MPHPIET (A) Chandragupta Maurya

(C) AT PRI (BFi Rbgdhanda
(D) (FFHR FF |

135, faerea (es) @ 23

(C) Agrammes
(D) None of these.

135. The Battle of Jhelum was fought
(A) fF @I ACTEEISIE JEG :

between

(B) L @R AETFRISIEAT WG | (A) Porus and Alexander

(C) AP G SIETFSISIET 30 (B) Ashoka and Alexander

(D) AR (G 7 | (C) Bindusara and Alexander
136. SIATSA AU AL ST 251 (D) None of them.

(A) SR AT A= 136. The maritime boundary of India is

(B) »© e w3 (A) 12 nautical miles

©) se ] - (B) 13 nautical miles

(D) (IR 7Y | (C) 15 nautical miles

137. RGN WS 2F
(A) <15 BICET &)

(D) none of these.
137. Black soil is suitable for

(A) cotton cultivation
(B) 49 bIAY &) gt el
(B) rice cultivation

(C) /N DTS Bt (C) wheat cultivation

(RyC. T RIS | (D) sugarcane cultivation.
138. ooy 21 @l 138. India is a

(A) THEITAE B (A) Developing country

(B) Tm® B (B) Developed country

(C) RGE I THe 918 (C) Least Developed country

(D) CIHBE 7 | (D) none of these.
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139. MAITH qrFF @7 T | 139. Result of greenhouse effect is

(A) PR ey (A) inversion of temperature
(B) fy Smrmw (B) global warming |
(C) s gae | () industrial pollution
(D) ¥ | (D) flood.

140. OIPEl WMo T 140. Temperéture is measured by
(A)  reAifiGR (A) thermometer
(B) IR . (B) barometer
(©) ST (C) anemometer
(D) Frfwmer | (D) seismograph.

141. m Mz : 141. Frontier Gandhi was
(A) AW ST TP A ' (A) Khan Abdul Gaffar Khan
(B) <1 SIIET GHEA A | (B) Khan Abdul Wali Khan
(C) *Mcxyl A1 (C) Shaista Khan
(D) o T | (D) none of them.

I142- V Borer ol I 142. Gorge is formed in
(A) i Swerfers | (A) upper course of a river
(B) A% Wrefers (B) middle course of a river
(C) = fFwefere (C) lower course of a river
(D) femTERR Swerfers | (D) mountain stage of a glacier.

799425 ' ; -



143, WRIET-a9 ﬁﬂﬁ% £
(A) ¢ T
(B) 3¢ forrea
(C) 24 T
(D) ¢ GTTHET |
144. Q7 SRGE @ Roroye e
(A)  rsETe
(B) CBRIS{&N
(C) Porre
(D) CfFaN |
145, ST AR 2ol
(A) TP (B)
(C) wIat (D) el
146. ST (@41 e
(A) TR
(B) *f
(C) %
(D) CPHBR 7 |
147. 6 TR T FHe 21
(A) Svoo (B)

(C) svox 43 (D)
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143.

144.

145:

147.

6001

(A) basalt

Date of spring equinox is
(A) 21st March

(B) 22nd December

(C) 21stJune

(D) 23rd Septeraber.

Heaviest rainfall in the world

received by

(A) Bangladesh

(B) Cherrapunji

(C) Shillong

(D) Mousinram.

Example of Igneous Rock is

(B) sandstone.

(C) marble (D) slate.

146. William Carey was a

(A) Missionary
(B) Poet
(C) Linguist

(D) none of these.

is

Fort William College was established

in

(A) 1800 A.D. (B) 1801 A.D.
(C) 1802 A.D. (D) 1803 A.D.
[ P.T.O.
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148. 71 ICW (V9% weafgeEr 148. The Young Bengal was led by
(A) A fefeam m\?’ (A) Henry Vivian Derozio
(B) 3. FRRA &N (B) Rev. Krishnamohan Banerjea
(C) comet ety (C) James Prinsep
(D) ET (FT 7 | (D) none of them.
14.9' CoE G e 149. Womesh Chandra Bonnerjee was a
(A) A (A) Moderate
(B) bawAR (B) Extremist
(C) (A) 9 (B) F&RR (C) Both (A) and (B)
(D) . POIR X | (D) none of these.
150. oM@ (P MPFRIE AR O 150. Gandhiji called for the establishment
R 7 of
{4y, S (A) Ramrajya
(B) sioramey

(B) Ganarajya

(C) =dren (C) Swarajya

(D) (A) @32 (C) T&F | (D) both (A) and (C).
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fNT® / INsTRUCTIONS
: (TPRINA G @ A %9 / Read carefully and comply )
- @F7?| / IMPORTANT

mwmmmﬁmﬂfwmmé(ﬂhﬁqw)m&mﬁwﬁmm|

At the time of verification of candidature the candidate should submit his/her Admit Card (including candidate’s
ortion) to the Invigilator,

2, SILILCe 8 b SRl Wiy — e, 2. e, o, efw, e, (OF1S 93¢ B | orere Srm 30 f o wim o@wdie o
W%wmawm%wmommmtwsmmﬁ@w@mmﬂso B o3, %60 B oy T s gz
In Section-II, there are 8 languages — Bengali, English, Hindi, Nepali, Oriya, Santhali, Telegu and Urdu. Each language is
having 30 questions. The candidate has to answer 60 questions in all, taking one as First Language having 30 questions and
the other as Second Language having 30 uestions as per his/her application form.

3. fre1st-m 46 et Row ﬁaﬂlt:(a]—*ﬂ% @ fq@m aqe @11 11(b) - ST | orrere Rsres 60 5 opt w1 F ) s
TSP (o1 @@l REwes 539 vame |
Segtion—ll I é)s divided int'?hhvn st:quonsh— Secti:m II{a) - Math?r::hatics & Science arll.lc] Sgcti?qn II]l (b) - SaFcaal Studies. Each section
is_having 60 questions. cancidate has to chgose any gne of the sections a per his/her Application Form.

4, orgreId REH (@ ol OMR Tageiray et o T %mca? é@ﬂ |
The candidate must ensure that the estion Booklet No. has been filled correct] at the prescribed place in the OMR Answer Sheet.

L [AUmief TPIERIE e a9t OMR Seeay 1 G 8, 136 14 O3t 2PIofGI TR 1, 3 99¢ 4.9 2w Sofel o % | Ifw aief ove
c-svfra?: T PG G T AT Ao west e e Joree 359I OMR Seqsitad e 318 Ty @iba wifig o fire o i
Read all the instructions carefull and’fill the details in Sl. Nos. 1 to 8, 13 & 14 in the OMR Answer Sheet and S1. Nos. 1,3&4
in the Question Booklet. If you ail to fill the details and sign as instructed correctly, you will be personally responsible for the
consequences arising during scanning of your OMR Answer Sheet.

% epasifEaTs e e oMR Teaom
OMR Answer Sheet No. should be written in the space provided in the Question Booklet.

3. oPIoifRIN (Wb 84 o3 @ 150mmmvmm.mﬁmmammw@wﬂ’rﬁﬁé’zm oo Yorcas | orfrmd
AU ePsfva 150 6 ony @ae ST 3 (AT 80 WY 61 fafercy caeamy |
The Question Booklet comprises 8 es having 150 questions, After bei instructed to open the Booklet then only the candidate will
open_the Question Booklet at the incﬁzgted lace. Check whether the Booklet contains 150 questions starting from No. 3 to 80.

4, m%mwﬁvm:ﬂmmg MMWWUqﬁ@mwm@mﬁxwmm
All questions are of MCQ (Multiple Choice Question| type. There is only one correct answer to each question carrying one
mark. There will be no negative marking for wWrong answers.

5. CFIN o0 (PN SUANS GE e, R H@N B Al | 13 ol S o s v 2 A Rrersl-1 @at fsier- 1)
3R [1(b) 41811 @ B¢ mmﬂﬂmlmmmmmwm °I% 051 491 59 |
n any event of any factual mistake in any question/s, candidates will not be penalized. However no corrections will be made in
qucsftlorl /sl ddun'ng the exgmié'lagtipr;‘, sectinn—! ﬁfld Sccﬁion lll{a) and I1I{b) are printed in Bengali and English versions. In case of
any lactual discrepancy the English Version will prevail.

6. (I YNl I F08 X0 2rofERIA (A o mwmwﬁﬂwwqﬁmcwﬁmammwﬁﬁ@mwmmmm
Rough work, if any, may be ‘done in the Question Booklet onlglr in the space provided at the end of the Booklet. Do not tear it off
from _the Question Booklet. No additional paper shall bé%'om‘:l ed. :

7. 09 y 1, (AR PN, (o18T, mwwwmmwmmmeﬁm
G AR AT HAWIANE AN T (X T4 3K
Use of Log tables, Calculator, Slide rule, Mobile hone, Pager, Digital diary or any other electronic item/instrument etc, is not
allowed. 'ﬁwtr use will result in disqualification of the cand:%eat ’

8. o M F OMR o (el 3@ |
OMR Answer Sheet will be provided se{gg;ately along with the Question Booklet. ;

9. AW eroffR w3t oMR SwaorE i eo(fe1 @3¢ OMR Swasiad FifkE B fHeaeiaf 1% TR 1 oo e et fi A
N WG| ﬁaﬂmﬁ&vmmﬁnsmwml er1o(fe] T o SR SR 5 B e 1 ePoff¥Ta (I 2 weq)
P01 IR/ =111 A1 /AT @i e | ¥l erolfeT (I o s, wireT RIS GIfb RASGTEAGE ST w16 %77 (e |
After Question and OMR Answer Sheet are issued to the candidate, the candidate must fill in all the entries in the Question Booklet and OMR
Answer Sheet, The Question Booklet is sealed b%a reverse jacket. The candidate has to tear open the jacket at the indicated place in order to open the *
Question Booklet. After opening the Question Booklet the candidate should .ensure that any page/question is not mms,mE,‘ not printed / torn /
repeated. In case you find any defect anywhere in the Question Booklet, immediately inform the In ator and gel it replaced by him -

10, o N R, (TS, ool il At qafel, B, e oy sl o1, TS . o iy @qe S o
H%4 OMR Tagoicay g mm FAEA |
Candidate should write Roll No., Centre Code, Question Booklet Serial No., Category, Gender, Language-I, Language-11, selected
Subject Group, Date of Exam and his/her Full Signature in the space provided in the OMR Answer Sheet.

11. oCT K% 4 6 R $a9 A, B, C @3t D et firw B a1 a1y ol ors v e o wat s @i it 5% s 2 oy 53
e | a1efTd Saafh ore OMR Beetta Ade qal sir wen w7 Hers g ol war o) cosenita Bieet <ot oS o araarg B
With each question you will find 4 possible answers marked by the letters A, B, C & D. Read each question carefully and find
out which answer, according to you is correct. Indicate your answer by darkeninﬁ the appropriate circle com pletely in the OMR
Answer Sheet corresponding to the question. For marking answers use black ba point pen only. ;

Ao offis - 6% | CORRECT | G#1 *iifs : 9T | WRONG ¥ /| WRONG $H | WRONG G / WRONG
Correct method : .@@@ Wrong method : K®©© g@@@ 0@@@ .@.@

12!  (FF 4049 91 CTEHTT 2T (B TGN 341 bo7cg 1|
Once a questign i wered, no correction is permitted,

13. oun%‘ara K %@mw AR T Bty S | @% It OMR $9350a oW sl weprad a1 saer afwese
AR A 9T TG TS 2@ A1 | 97 O (O TS o A2 s 1 8% T |
OMR Answer Sheet is designed for computer evaluation, you do not follow the instructions given above and shown in the OMR Answer
Sheet, it may make evaluation by computer difficult. Any resultant loss to the candidate on the above account shall be of the candidate only.

14, Warmm@mwmmﬁaﬂﬂﬂwquw%ﬁinﬁmmwwﬁm@wmmoun@ww &

No candidate is allowed to leave the Examination Hall before the final bell, After completion of the examination the candidate should hand
over the OMR Answer Sheet along with the Question Booklet to the Invigilator and e/she will take back his/her portion of Admit Card

799425




